
     

1. What is best (lower price)? ½ pint of oil at $0.90 or 1 pint of oil at $1.65? 

A. ½ pint of oil at $0.90 

B. 1 pint of oil at $1.65 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2. What is best (lower price)? 2 pints of oil at $3.40 or 5 pints of oil at $8.10 ? 

A. 2pints of oil at $3.40 

B. $5 pints of oil at $8.10 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3. A baseball team has three different pitchers. Randy pitched 3innings and allowed 2 runs, 

Felix pitched 5 innings and allowed 4 runs, and Johan pitched 7 innings and allowed 5 runs. 

Who is the lowest pitcher? 

A. Randy 

B. Felix  

C. John 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



4. Michael has three pancake recipes. Recipe A uses 3eggs to make 12 pancakes, Recipe B uses 

5 eggs to make 24 pancakes and Recipe C uses 7 eggs to make 36 pancakes. Which recipe is 

the lowest amount of egg per pancake?? 

A. Recipe A 

B. Recipe B 

C. Recipe C 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right! Go to next. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

5. Which is the best sell price? 500g sugar at $0.75 or 1 kg sugar at $1.40? 

A. 500g sugar at $0.75 

B. 1kg sugar at $1.40 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are right!  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



You are wrong! Try again. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


